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s 10 - 2 — —> —> —_ —_ —_ — Co,Cg,C
A knot d1agranﬂ 5, OC5 6 Ca 4 co 7 P 8 o 1 s 3 o 901111% 25 C8, €10

Ideals for irreducible component#ﬂ)f Xpar

I} = (6.49349 x 10%%u?" 4 1.90286 x 10°7u?® + - - + 6.31630 x 10*"b — 6.60130 x 10%7,
— 1.10262 x 10?8427 — 1.96649 x 10%u?6 + ... +1.26326 x 10%a — 2.28561 x 10??,
u®® 4+ 20?7 - 4 20u + 8)

=0+, v+’ +a—ut1, v® +ut + 20 +u® +u+1)

I ={a, —v* +b+3v+1, v* — 20 —3v — 1)

* 3 irreducible components of dim¢ = 0, with total 36 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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L I} = (6.49 X 10%%u?" 4 1.90 x 10*7u?® + ... + 6.32 x 10?7b — 6.60 X
1027, —1.10 x 1028427 — 1.97 x 1028426 4 ... + 1.26 x 10%%a — 2.29 x
1029, w28 4 2u2" 4 ... + 20u + 8)

(i) Arc colorings
1
as
aio = )

0.872833u" + 1.55668u2C + - - - — 6.74875u + 18.0929 >

a9 =

—0.102805u27 — 0.301262u26 + - - - + 5.99581u + 1.04512

)

0.748842u27 + 1.32169u26 + - - - — 4.76990u + 17.3225
0.236809u27 + 0.571914u2% + - .. — 10.8084u — 2.70142

0.212982u27 + 0.380557u26 + - - - — 3.15104u + 3.02347 )

ar = ( 0.0259598u" — 0.0939752u?® + - - + 1.35732u + 1.55242

ag —
aq =

ag = \ —0.0259598u27 — 0.0939752u2% + - - - + 1.35732u + 1.55242

0.212982u27 + 0.380557u20 + - - - — 3.15104u + 3.02347)

0.187022u%7 + 0.286582u26 + - - - — 1.79372u + 4.57588 )

ayp =

0.0387264u27 + 0.130165u6 + - - - — 2.15306u — 1.18917

0.902672u27 + 1.78001u2 + - .- — 13.1074w + 13.2132
0.300350u27 + 0.747310u6 + - - - — 15.0523u — 3.90671

ud +u>

0.216279u27 + 0.376927u?6 + - - - — 2.89799x + 3.72316
a11 = \ 0.0537576u2” 4+ 0.145064u26 + - - - — 1.72187u — 0.407669

( 0.216279u27 + 0.376927u?6 + - - - — 2.89799u + 3.72316 )
ail =

az =

ag =

0.0537576u2" + 0.145064u26 + - .- — 1.72187u — 0.407669

(ii) Obstruction class = —1

(iii) Cusp Shapes __ 10054887119174523839900746713 27 3421814896803148511487522420 26 +
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cy u® =T+ —Bu+1
€2 u®® +5u?" o —3u+1
c3,Cg u?® — 22" - — 2402 — 32
Cs, Co u®® 4+ 20" - 4+ 20u + 8
7 u® 30 4 —u—1
€8, €10, C11 u® 450+ —8u—1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C4 Y2 =5y 3y 1
€2 Y+ 43" - 43y + 1
€3, Cg y* 4+ 36y%7 + .- + 1536y + 1024
s, Co y® 42497 ... — 848y + 64
7 y? =37y ... =35y + 1
€8, €10, C11 y?® =312 .. — 128y + 1




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

u = —0.502386 + 0.8248541
a= 0.823470 + 0.4878091
b= 0.414733 — 0.2665217

—0.04395 + 1.990451

—0.01306 — 4.616201

u = —0.502386 — 0.8248541
0.823470 — 0.4878091
b= 0.414733 + 0.2665211

—0.04395 — 1.990451

—0.01306 4 4.616201

u = —0.011679 4 0.9227401
0.91458 — 1.211661
b = —0.220238 4- 0.5027771

a =

1.30841 + 1.564331

2.39227 — 4.632051

u = —0.011679 — 0.9227401
0.91458 + 1.211661
—0.220238 — 0.5027771

)
|

1.30841 — 1.564331

2.39227 4 4.632051

0.841010 + 0.3068231
0.495652 — 0.3212931
0.136281 — 0.4040521

2.62794 4 0.463471

2.20728 4+ 0.539011

0.841010 — 0.3068231
0.495652 + 0.3212931
0.136281 + 0.4040521

2.62794 — 0.463471

2.20728 — 0.539011

0.456033 + 1.0803801
0.760375 — 0.3675371
0.744635 + 0.3188561

4.82268 — 5.100021

4.96882 + 7.616681

0.456033 — 1.0803801
0.760375 + 0.3675371
0.744635 — 0.3188561

4.82268 4 5.100021

4.96882 — 7.616681

0.639311 + 0.0095581
0.530838 + 0.3747551
0.894453 — 0.8243091

3.90340 + 3.063041

—6.04954 — 3.669021

0.639311 — 0.0095581
0.530838 — 0.3747551
0.894453 + 0.8243091

>~ Q@ €|l & €| & €|l & €| & €| & &>
Il

3.90340 — 3.063041

—6.04954 + 3.669021




Solutions to I

V=1(vol + v=1C)

Cusp shape

0.100025 + 0.6302621
0.34419 + 2.125371
= —1.051400 — 0.1495331

—1.169040 — 0.7364961

—2.56323 — 2.936191

0.100025 — 0.6302621
0.34419 — 2.125371
—1.051400 + 0.1495331

—1.169040 + 0.736496.1

—2.56323 4 2.936191

—0.09653 + 1.443841
= —0.313167 — 0.8680431
—1.322620 4+ 0.3969191

5.47968 + 1.564461

1.30115 — 0.628041

—0.09653 — 1.443841
—0.313167 4 0.8680431
—1.322620 — 0.3969191

5.47968 — 1.564461

1.30115 + 0.628041

0.11027 + 1.456391
= —0.590568 + 1.2314901
0.95494 — 1.072291

9.13873 + 0.669151

1.241168 + 0.2266911

0.11027 — 1.456391
—0.590568 — 1.2314901
0.95494 + 1.072291

U
a
b
U
a
b
U
a
b
U
a
b
U
a
b
U
a
b

9.13873 — 0.669151

1.241168 — 0.2266911

u= 0.33116 + 1.432631
a = —0.03375 — 1.595651
b= 1.08042 + 0.993811

8.71794 — 6.877071

0.35894 + 4.812131

u= 0.33116 — 1.432631
a = —0.03375 4 1.595651
b= 1.08042 — 0.993811

8.71794 + 6.877071

0.35894 — 4.812131

u = —1.51203 + 0.119311
a= 0.447872 — 0.3485831
b= 1.03272 +1.051371

11.20710 — 3.837481

1.59779 + 2.226201

u = —1.51203 — 0.119311
a= 0.447872 4+ 0.3485831
b= 1.03272 — 1.051371

11.20710 + 3.837481

1.59779 — 2.226201




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

u =

b:

0.29853 + 1.548121
0.139401 + 1.0665401
—0.423937 — 0.9817651

8.83250 — 3.917591

2.90293 + 3.102341

b:

0.29853 — 1.548121
0.139401 — 1.0665401
—0.423937 4 0.9817651

8.83250 + 3.917591

2.90293 — 3.102341

b:

—0.349253
—12.0202
—0.917213

0.303143

—47.2620

a =

b:

—0.304533
1.10498
—0.668462

1.01341

—10.2410

u = —0.72992 + 1.549111
a= 0.43631 + 1.345831
b= 1.21166 — 0.958241

15.7181 + 11.72891

1.85525 — 5.520531

u = —0.72992 — 1.549117
a= 0.43631 — 1.345831
b= 1.21166 + 0.958241

15.7181 — 11.72891

1.85525 + 5.520531

b:

—0.59689 + 1.682281
—0.497600 — 0.6774711
0.84120 4 1.233101

16.9931 + 3.83831

b:

—0.59689 — 1.682281
—0.497600 + 0.6774711
0.84120 — 1.233101

16.9931 — 3.83831




I =b+1, v* +u?+a—u+1, v +ut +2u3 +u?2+u+1
3 =

(i) Arc colorings

(
(
(
e
-
w= ()
o
(
(
(

az =

(ii) Obstruction class =1

(iii) Cusp Shapes = 2u? + 5u3 + Tu? + 5u



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

“ (u—1)°

C2,C4 (u+1)°

cs3,Cg u®
& w4 ut F2ud 4w Futl
€7 ub = 3ut + 4w —u? —u+1
s ub—ut =20t 4wt Fut1
9 ub—ut 20—t Fu—1

€10, C11 wWut -2 — P +u—1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
5
C1,C2,C4 (y_l)
€3,Ce y5
C5,Co 3yt A+ -y -1
e -yt 8y =3+ 3y —1
€8, €10, C11 v’ =5yt +8y° =3yt —y—1
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(vi) Complex Volumes and Cusp Shapes

Solutions to I3 VvV—1(vol + /—1CS) Cusp shape

u=0.339110 4 0.822375]

a = —0.103562 4 0.8907621 | —1.31583 — 1.530581 | —5.47076 + 5.401541
b = —1.00000

u= 0.339110 — 0.822375]
a = —0.103562 — 0.8907621 | —1.31583 + 1.530581 | —5.47076 — 5.401541

b = —1.00000

u = —0.766826

a = —2.70062 0.756147 —1.28100
b = —1.00000

u = —0.455697 4 1.2001507

a = —0.546130 — 0.4027311 4.22763 + 4.400831 | —0.88874 — 1.167471
b = —1.00000

u = —0.455697 — 1.2001507

a = —0.546130 4 0.4027311 4.22763 — 4.400831 | —0.88874 + 1.167471
b = —1.00000
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I I? = {a, —v*+b+3v+1, v3—2v? —3v—1)

(i) Arc colorings

v
a10 = \ 0
0
az = \p2 —-3v—1
1
ag = \(
1
as = \ —2024+50+3
—20? + 50 + 4
a7 = v2—20—3
—v?+3v+1
ag = \ 92 —2v—3
2 —3v—1
= \—p24+20+3
—2v2 + 50 + 4
a3 = \—2024+5v+3
v
ag = \0
v2—20—1
a11 =\ —p24+20+3

(ii) Obstruction class =1

(iii) Cusp Shapes = 2v% — 5v + 1
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
‘@ ud 4 u? -1
3 2
C2,Cq u’ +u*+2u+1
€3 ud—u? +2u—1
€4 w—u? 41
Cs, C9 u3
7 u? —3u? 4+ 2u+1
Cs (u+1)3
3
€10, C11 (u—1)
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,C4 v -yt 2y —1
3 2
C2,C3,Cq y 4+ 3y +2y—1
C5,C9 y3
cr v —5y? + 10y — 1
€8, €10, C11 (y— 1)3

14



(vi) Complex Volumes and Cusp Shapes

Solutions to I7

V=1 (vol + y=1CS)

Cusp shape

v = —0.539798 4 0.1825821

a= 0

b= 0.877439 — 0.7448621

4.66906 + 2.828121

4.21508 — 1.307141

v = —0.539798 — 0.182582]

a= 0

b= 0.877439 + 0.7448621

4.66906 — 2.828121

4.21508 4+ 1.307141

v=3.07960
a= 0 0.531480 4.56980
b= —0.754878

15



IV. u-Polynomials

Crossings u-Polynomials at each crossing

1 (uw—1)%)(u? +u? —1)(u®® - 7"+ —5u+1)
C2 (uw+ 1)) +u? +2u+1)(u® +50% - —3u+1)
3 u®(u® —u? 4 2u — 1) (u®® — 207 4 -+ — 240% — 32)
€4 (uw+ 1)) —u? +1)(u® - 7"+ —5u+1)
€5 WP +ut 4 a1 (W 20 - 20u 4 8)
6 u® (u? 4+ u? + 2u + 1) (u®® — 207 4 -+ — 240% — 32)
7 (u? = 3u? +2u+1)(u® —3ut + - —u+ D +3u*" - —u—1)
cs (41D —u* + - +u+ )W + 50+ —8u—1)
€9 wd(u® —ut - u— D)W 4 202 - 4 20u + 8)

¢10, €11 (=1 +u* 4+ u—1)(w?®+50> + - —8u—1)
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V. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1, ¢4 ((y =D’ =y +2y = D™ = 59"+ + 3y +1)
© ((y = DM)(° +3y" +2y = 1)(y*° + 439"+ + 3y + 1)
€3, Co v (% 4 3y% 4 2y — 1) (4% + 365%7 + - - - + 1536y + 1024)
Cs, Cy VP +3yt 4 —y— 1)y +249% 4 - — 848y + 64)
cr (v* = 5y° +10y — 1)(y° — y* +8y° —3y” + 3y — 1)
(Y =37y 4+ = 35y + 1)
Cs, €10, C11 (y—DH° =5y 4+ —y—1)(y*® —31y* 4+ - — 128y + 1)

17



